| total events O=anylnput 8=anyAccept | Entries

Mean

:1RMS

10

1965

3.935
3.568

.........................................................

10°

10

Y 1 2 3 a4 5 6 7 8 9

Input: 1=btow, 2=etaw

Accept: 4=oneJet, 5=diJet, 6=rnd

L2 time used per input event Entries

Mean
RMS

0
0

[%)
4
c
(0] -
>
()]
>

08

O

RN DR N A DU M S

O 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1
0 20 40 60 80 100 120 140 160
x: time (CPU kTics), range=100muSec

rate of input events | Entries

Mean
RMS

25 SE— T— T—

1000
38.52
15.78

y: rate (Hz)

20

15

10

Ul
|

1000 1500 2000

2500

X: time in this run (seconds)

4ccpet rate blue:monoJet, red:diJet, black:randon1 Entries

—{Mean

IrMS  1.14e-

2
25
07

y: rate (Hz)

2500

2000
X: time in this run (seconds)

1000 1500




S BTOW tower, E(>2.0 GeV (input)

T
0.9
0.8
07
06
05
04
03
02
01
0

S BTOW tower, Et>2.0 GeV (input)

1
0.9
0.8
07
06
05
0.4
03
02
0.1

O

S BTOW tower, Et>2.0 GeV (input)
= oo T

0.9
0.8
07

06
05
04
03
02
01

%6

S BTOW tower, Et>2.0 GeV (input)

T
0.9
0.8
07
06

05
04
03
02
01
O

S Brow tower E-2.0 GV dnpu)

T
0.9
0.8
0.7
0.6
05
04
03
02
01

%2

S BTOW tower, Et>2.0 GeV (input)

< T
0.9
0.8
07
06
05
04
03
02
01

Qo

TR

o
BTOW softlD

ERARRRRY

IRERRRARR

.

TR,

0!
BTOW softiD

A A

-
4

T

BTOW softiD




han+128*crate

: i=chan+128*crate

tr
i=chan+128*crate

i=chan+128*crate

=chan+128+crate



BTOW tower, Et>2.0 GeV (input)

Entries

0

N
o

.B TOW—East

RP~Sectop
o
T

. phi bi
g’

.................................................................................................

ol

S e e

.B TOW-West

..........................
..........................
..........................

OIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

0 5 10 15 20 25

35
X: eta bin, [-1,+1]

40

ETOW

[e2]
o

y: phi bin ~sector

o
o
T T T T T T

401~

20

10

0

0

2 4 6 8 10 12

x: 12 - Endcap etaBin ,[+1,+2]



Et Jetl-Jet2 (input) |

> 12
@)

Jet2 Et/G

T

10
x: Jetl Et/GeV

Entries 1000

800
I 700
—600

—500

—300

200

100

0

12

diJet1 eta-phi (input)]

y: iPhi ~sector

BTOW-West| Endcap
]

30 =

10 12 14

x: iEta [-1,+2]

y: iPhi2 ~sector

30

N
¢

20

15

10

x: iPhil ~sector

Entries 1000

iJet2 eta-phi (input Entries
|d J;) eap_( )|BTOW-West Endcap
S ! -
o
(%]
Loogl—
a
=

X: iEta[-1,+2]

Entries 1000

1000




Jetl Et (input)

Entries 1000

10

102

10

—|Mean 0.716

RMS 0.4768

Jet2 Et (input)

Entries 1000

|Mean 0.524
- |RMS

0153

1 H
0 x: Et (Ge\g0
# BTOW towers>ped+8 (input) | Entries 1000
Mean 6.277
350 - re e ere e RMS 3.4

300

40 60 80 100 120 140 160

180 200

x: # of towers/event

60
x: Et (GeV)

Entries 1000

—1Mean 2114

1.457

*{RMS

# ETOW towers>ped+8 (input) | Entries 1000
450 =t TR S T A — S S -|Mean 2.343
: : : : : : : ¢ |RMS 2324

400 "

350

300

250

200

150

100

50

OO

o
80
x: # of towers/event

i
90 100

10 20 30 40 50 60
x: Et (GeV)



one-Jet Et (accepted) |

Entries

2

one-Jet eta-phi (accepted)

2

1.8

1.6

1.4

12

1

0.8

0.6

0.4
0.2

50
X: jet Et (GeV)

30

y: iPhi ~sector

20

15

10

o

BTOW-East

oTovV/-West

......................................................

......................................................

......................................................

Endcap

.............................

2

4

6 8 10 12 14

Entries

2

one-Jet eta (accepted) |

...................
...................
...................

...................

5

10

15

20

25 30
x: iPhi ~sector

2

1.8

1.6

1.4

1.2

1

0.8

0.6

0.4
0.2

x: iEta [-1,+2]

2
5.
—1.6
—1.4
—1.2
—1

—0.8

0.6

0.4

0.2

Entries

.................................................................

...............................................................

...............................................................

.................................................................

6 8 10 12 14

x: iEta [-1,+2]



|Et of Jetl vs. Jet2 (accepted)]

Entries 0

s 12

|d|Jet1 eta-phi (accepted)

est

<_

[Entries 0]

30 BTOW-East oTowW

Jet2/Ge

10

0 2 4 6 8 10 12

x: Jetl/GeV

|diJet phil-phi2 (accepted)]

y: iPhi ~sector

20

15

10

0

.........................

.........................

.........................

Endcap

.............................

0 2 4

6 8 10 12 14

y: iPhi2 ~sector

30

N
¢

20

15

10

0 5 10 15 20 25 30

x: iPhil ~sector

Entries 0

[diJet2 eta-phi (accepted)|

y: iPhi ~sector

30

N
(&2}

20

15

10

RTO\AI Fncf

West

DI\JV

x: iEta [-1,+2]

Endcap

0 2 4

6 8 10 12 14

X: iEta [-1,+2]



— High Et jet
--- Low Et jet

[— Righ Et jet

Low Etjet

[—Righ Et jet

Low Etjet

Entries 0]:
Mean 0|
RMS

LLLJJJ Lol LLLLllJJJ 1 l 1 LLLllJJJ l Ll LLLLLJJJ Lol LLLLLJJ

.............................................................................................................

|diJet delZeta (accepted)|

Entries

(@]

I
S e
S s o S
S e

af

.AZTmhl(JlJZ). .SIGI‘\(K .x S. ). Lo

Mean
RMS

0 10 20

30 T 40

50 60

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted) | sntries 0
ean x 0
= - Mean y 0
‘kg' 60_ .....................................................................................
£ 60p
S r
B 5O
S
E -
B A0f bbb
= L
30:— -------------------------------------------------------------------------------------
27 ENRRREER SRR SRR SRRSO NORRI RSN S
10:_ .....................................................................................
O C 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1
0 2 4 6 8 10 12 14
x: iEtal [-1,+2]
|diJet delZeta vs. avrPhi (accepted) | Entries 0
Mean x 0
s F Mean y 0
I © 1 o
©
S r
Lo Yo | O SO SRR OOURE SOROPURRUROOOE SERRPPRRRO
NL
E -
B 40f e
= L
30:_ ......................................................................................
20:_ ......................................................................................
L0
0 C 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1

0

5 10 15 20 25 30

x: (iphil+iphi2)/2 (12 deg/bin)

|diJet eta2 vs. etal (accepted)|

x: iEta2 [-1,+2]

14

12

BTOW.

Entries 0

Eindcap

1N
O

[ee]

0 2 4 6 8

B[TOW

10

12 14

x: iEtal [-1,+2]



